02/24

S20F-P

MECCALTE spa - Via Roma, 20 - 36051 CREAZZO (VI) ITALY
Tel. +39 0444/396111 - Fax +39 0444/396166 - e-mail: info@meccalte.it 2 PO L E
website: www.meccalte.com 1 PHASE
IP 23
CHARACTERISTICS

50 Hz

115/230V 50Hz 3000 RPM

Air volume

S20FS-130 8,5 76,5 79,2 7 <4 4,5 63 81 41,7 0,0219
S20FS-160 10 76,7 79,4 79,2 <4 4,7 63 81 48,7 0,0261
S20F-200 12 77,5 80,4 80,3 <4 4,7 63 81 56,5 0,0306
S20F-230 13 79,2 82,3 82,1 <4 4,6 63 81 60 0,0335

60 Hz

120/240V 60Hz 3600 RPM

Air volume

S20FS-130 10,5 76,5 79,6 79,4 <4 5,4 65 83 41,7 0,0219
S20FS-160 12 76,7 79,8 79,6 <4 5,7 65 83 48,7 0,0261
S20F-200 14,4 77,8 80,9 80,8 <4 &/ 65 83 56,5 0,0306
S20F-230 155 79,7 82,8 82,7 <4 5,6 65 83 60 0,0335

Member of CISQ Federation

s 0 €€ Vs

INSULATION SYSTEM




OVERALL SIZE, STANDARD TYPE

FORM B9/25.4 dimensions in mm.

1)
e 30° 84 C C.og.

|
|
]
]EE !I '1 N e 109 @
4
ﬁ— et TN,
— e I M
AP 2 I s
o ,/:; S—r o o) g 5 M & :
== 714 0% M 3
2l 3 & | = ] S
o iy :,-_ 3 I\ I3 "g ——\-‘r—'{- i —— i gg
L e
i = 4 ‘g [ [ =
o poiind |2 a - 1:5.33 N
= == = - 2" 1/4 TAPER PER FT =
= 3 § ittt 41
L - N 1 5 = )
4 28y (.
e L 9.0, &
—.-Io A 63,1 >
) C b
—— o
_ )
. A B c D |C.oG. .
[mm] | [mm] | [mm] | [mm] | [mm)] -
Fs - 130 206.8 é g
: ju [l
285.5 | 295.5 | 385.6 | 275.0 L L
FS - 160 195.3 | = TNy,
iy r -
F i 200 2] 5.5 ~ NUT M3 UNIS587
. 325.5 | 335.5 | 425.6 | 315.0 8 A N aenis
( ) F-230 227.6 NUT M10 UNIS588
By s 37 (*) AVAILABLE ONLY FOR S20F-P
FLANGE EWA
E [mm] F [mm] G [mm] 1) | REMOVABLE COVER FOR ACCESS TO MAIN TERMINALS
:gg-g 165.00 1920 2) | SCREW FOR GROUNDING
= 196,85 216.0 3) | CENTER OF GRAVITY (C.0.g.) IN CONF. $20F AND FLANGE @146mm
4) | LIFTING EYE - AVAILABLE ONLY FOR TYPE F"
FORM B9/C30
- 300
\0\
T T Y4
el
‘ D 214 [
D 4135 4 [
on 4 P 2 g
S S , 83
4 N Y sle
= g 399,, E é - 15 e L_
= 4 D202 2.4 TAPER PER FT
4 b 5 S %h*
4 4 - P | ® | % 3
b
< B 180
A
m—
7 )
Wil D G
\/ - NUT M8 UNI5587
® NUT 5/16x24 UNF ANSI B18 2.2
A B C D C.o.G. / A 15Nm
TYPE [mm] [mm] [mm] [mm] [mm] NUT M10 UNI5588
2hm 37 (*) AVAILABLE ONLY FOR S20F-P
FS-130 205.4 o
FS - 160 28551 295.5 | 385.6 | 2750 194.5 1) | REMOVABLE COVER FOR ACCESS TO MAIN TERMINALS
200 14 2) | SCREW FOR GROUNDING
. 325.5 | 335.5 | 425.6 | 315.0 ’ 3) | CENTER OF GRAVITY (C.0.g.) IN CONF. S20F
()] F-230 228.5 4) | LIFTING EYE - AVAILABLE ONLY FOR TYPE "F"




OVERALL SIZE, STANDARD TYPE

dimensions in

FORM MD35 mm
503 202
; P —
- )
~— Moot
) T
3 é A _T D
- o fe) A1 1N o
0 4 = i T \
& /L ] oo 1" \
Sy i sle Fﬂ \
[ - « 28 /
o | 4 \
- 14 I [
é o A 1IN o
AT 1IN
. ! =t ”
] . L \E . -
\6\\ = 1/®/ c A o o)
s sl
»Ql c | 180
PQ
N ﬂ , i (*) AVAILABLE ONLY FOR S20F-P
N | =
SAE FLANGE N % o — TYPE A B c D |CoG.
N. o a * Lo ' FS-130 207.2
Q ‘ N '& 285.5 | 295.5 | 429.6 | 275.0
6 | 2667 | 317 |285.75 ®\\ ‘ NUT VB UNISS87 IS Fs-160 219.3
NUT 5/16x24 UNF ANSI B18 2.2 il
A 15N \ L F-200 241.4
5 | 3143 | 356 | 3334 NoT w0 Unesas 325.5 | 335.5 | 469.6 | 3150
25Nm 81 6 (*)| F-230 254.1
SA DISC COUPLING VIEW A
N. J L o TR 1) | REMOVABLE COVER FOR ACCESS TO MAIN TERMINALS
61/2| 21590 | 30,2 | 200,00 | 6 | 60° 2] | SCREW FOR CROUNDING
g g g 3) | CENTER OF GRAVITY (C.0.g.) IN CONF. S20F MD35/5 F.6.5
71/2| 241,30 | 302 | 22225 | 8 | 45° 4) | LIFTING EYE - AVAILABLE ONLY FOR TYPE 'F'
FORM B34
‘ 245
‘ 202 ‘
‘
i u ‘ ]
@ .
® |4 jj =
o |14 1= «
N Vi || D
N [ce)
fé = —\"y— - —%4(::1 % ~
L A RN
o 4 D ©
=4 D] © i i
B R [ N [
é L I I
: I
‘ @
A 180
c 3
L f_l
A B C D |CoG. N
TYPE N .
| mm] | (mm] | [mm] | [mm] | [mm] N i
\ / .|
FS-130 199.7 =X
2855|2955 | 385.6 | 2750 \ -
FS- 160 189.3 ‘ o — 7,
S, T
F-200 210.1 ~, NUT M8 UNI5587
. 325.5 3355 425.6 3]50 ® A :\ISUJm5/16x24 UNF ANSI B18 2.2
( ) F = 230 222'3 NUT M10 UNI5588
B 25Nm 37
(*) AVAILABLE ONLY FOR S20F-P
VIEW A

1) | REMOVABLE COVER FOR ACCESS TO MAIN TERMINALS
2) | SCREW FOR GROUNDING

3) | CENTER OF GRAVITY (C.0.g.) IN CONF. S20F

4) | LIFTING EYE - AVAILABLE ONLY FOR TYPE "F"




	Pagina vuota

